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الرقم الجامعي
Part one: Choose the correct answer








9 points
1. Two channels, the first is with bit rate of 200 kbps and another with bit rate of 600 kbps, are to be multiplexed using 

     multiple slots TDM with no synchronization bits and 1- bit interleaved. What is the frame rate? 

a) 200k f/s    
  b. 1000K f/s

c. 600K f/s

d. 800K f/s

2. Synchronous transmission
a) uses stop bits after each character to be sent
b) is used to transmit a frame or packet of data at a time
c) is used to send one character at a time
d) uses start bits before each character to be sent 
3.  On a network that uses NAT, the _______ has a translation table. 

  
 a. Switch 
    b. Router 

c. Server 
d. None 
4.  What is the maximum actual user data rate for a device connected to a T1 line?

a. 64 Kbps.
   b)  218 Kbps.

c)   1.536 Mbps.

d)  3.152 Mbps.
5. Assuming there is some noise present; rank the following media types from lowest bandwidth capacity to highest bandwidth capacity:

a) Shielded twisted pair, coaxial cable, unshielded twisted pair, fiber optic cable

b) Unshielded twisted pair, shielded twisted pair, coaxial cable, fiber optic cable

c) Unshielded twisted pair, coaxial cable, shielded twisted pair, fiber optic cable

d) Unshielded twisted pair, shielded twisted pair, fiber optic cable, coaxial cable

6. 10Base5 refers to ____

a. Category 5 UTP

b. Category 6 UTP
c. Thicknet

d. Thinnet
7. Whether STP or UTP, twisted-pair network cabling most commonly uses ____ connectors to plug into computer 
    network interfaces or other networked devices

a) RJ-45 


b) RJ-11 

c) BNC 


d) MT-RJ
8. The sharing of a medium and its link by two or more devices is called _______.
 
a. Modulation

b. Encoding


c. Multiplexing


d. Line discipline
9. In fiber optics, the signal is _______ waves

a) Light
   
 b. Electric pulses     

  c. radio   


d. infrared 

Part 2
Q1. The following Figure is Manchester encoding of a data stream. What is the data stream?



3 points
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Q2. Why is synchronization a problem in data communication? 





2 points
To correctly interpret the signals received from the sender, the receiver's bit intervals must correspond exactly to the sender's bit intervals. If the receiver clock is faster or slower, the bit intervals are not matched and the receiver might internet the signals differently than the sender intended
Q3.  List three advantages of subnetting?







1.5 points
Reduce broadcast domain, Reduce collision domain, Easier to manage, Increase security

Q4. What is the purpose of NAT? Give of a private address. 


1.5 points
· Security, since systems outside organization never see the actual internal IP addresses

· Minimize the need for actual IP addresses   10.0.0.0   to  10.255.255.255
Q5. A block of addresses 199.0.0.0/30 is granted to a small organization. 



3 points

a. Find the subnet mask. 255.255.255.252
b. Find the last addresses in the block199.0.0.2
c. Find the broadcast address of the block.199.0.0.3
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